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1 5.1 NuyLbunwih 1 0 -1 6.62 130 860.6
2 P.d Nipgwdnp 0.8 0 -0.8 7.84 130 1019.2
3 Jd.d p. dbnh 25 0 -2.5 71.49 130 9293.7
4 3.9 Uqwunwdwl 0.8 0 -0.8 15.70 130 2041
5 U.le g. Wagbkqwnn 0.6 0 -0.6 12.52 130 1627.6
6 mn.u g. Ugbquipn 0.87 0 -0.87 13.70 130 1781
7 mn.3 g. Wagbkqwnn 2 0 -2 2.1 130 274.3
8 u.U g. Ugbquipn 10 0 -10 135.38 130 17599.4
9 u.a g. Wagbkqwnn 0.65 0 -0.65 7.35 130 955.5
10 mn.u g. Ugbquipn 25 0 -25 8.26 130 1073.8
11 u.u g. Wagbkqwnn 0.5 0 -0.5 7.44 130 967.2
12 ud g.Ugbwwun 0.66 0 -0.66 1.97 130 256.1
13 u.u g. RGppwlnt 0.62 0 -0.62 5.74 130 746.2
14 L.u Lwnby 0.79 0 -0.79 8.86 130 1151.8
15 h.e Unpwith 1.2 0 -1.2 17.38 130 2259.4
16 Q.U g. Nuunwl 0.15 0 -0.15 1.52 130 197.6
17 u.u g. Nuuwb 0.7 0 -0.7 5.97 124 740.28
18 u.u g. Nuuwl 0.6 0 -0.6 11.12 130 1445.6
19 (aja g. Nuunwb 10 0 -10 14.42 130 1874.6
20 d.N g. Nuunwb 0.1 0 -0.1 1.68 130 218.4




21 qrL.qQ g. Nuunnwb 1.5 0 -1.5 0.28 130 36.4
22 Uy g. Nuunw 0.3 0 -0.3 2.61 130 339.3
23 3.N g. Nuunwb 0.1 0 -0.1 1.92 130 249.6
24 u.n g. Nuunw 0.2 0 -0.2 6.86 130 891.8
25 dA.L g. Nuunwb 0.36 0 -0.36 2.73 130 354.9
26 4.9 g. Nuunw 0.26 0 -0.26 9.18 130 1193.4
27 u.u Onpp Ybinh 0.9 0 -0.9 27.31 130 3550.3
28 u.u ®np 4dbinh 0.4 0 -0.4 6.87 130 893.1
29 Q.q p. Upwunywun 1.5 0 -1.5 9.41 130 1223.3
30 34 g. Pwungnpwtl 0.04 0 -0.04 2.56 130 332.8
31 3.U g. Pwngpwtl 0.52 0 -0.52 13.94 130 1812.2
32 u.o g. Pwungnpwtl 0.55 0 -0.55 4.90 130 637
33 UL g. Pwngpwtl 0.23 0 -0.23 12.58 130 1635.4
34 u.3 g. Lwngpwtl 4.1 0 -4.1 5.91 130 768.3
35 Q.Y g. Pwngpwtl 1 0 -1 6.19 130 804.7
36 d.E g. Rwngnpwtl 1.5 0 -1.5 81.35 130 10575.5
37 u.u g. Pwngpwtl 1.5 0 -1.5 61.30 130 7969
38 1.q g. Bwungnpwtl 0.55 0 -0.55 3.18 130 413.4
39 d.3 g. Pwngpwtl 4 0 -4 64.29 130 8357.7




